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GSE/M-18 1401
ENGLISH
(Literature and Language-II)
Time : Three Hours] [Maximum Marks : 80

Note : Answer all questions.

1. (a) Give phonetic transcription of any four of the following
words :

(1) Worth.
(i1) Saga.
(iii) Gate.
(iv) Medicine.
(v) Beauty.
(vi) Active.
(vii)) Round.
(viii) Bomn.
(For Blind candidates only)

Give meanings of any four of the following words :

(i) Refugee.

(ii) Abandon.
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Scanned by CamScanner



(iii) Terrace.

(iv) Embark on.

(v) Diaphragm.

(vi) Veiled. 4

(b) Give antonyms and synonyms of any four of the
following words :
(i) Joyous.
(ii) Softly.
(iii) Living.
(iv) Worried.
(v) Fanciful.
(vi) Exactly. 4
2. (a) Answer any four of the following questions in a word/
phrase/sentence each :
(i) Who is Bulu ?
(ii) Why did the narrator break into tears at the end ?
(iii) Why was the journey so difficult ?

(iv) What does the ‘storm’ stand for in the story “The
Refugee’ ?

(V) Where did the peasant plan to buy a bullock from ?
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(vi) How much did the Panchlight cost ?
(vii) Why did Gangu want to resign ?
(viii) Whom did the blind man loose ? 4

(b) Answer any six of the following questions in about 50
words each :

(1) Assess the equation between the old couple.
(i) Why did the photographer look ‘very grave’ ?

(iii) How do the people of the hill community prepare
for the journey ?

(iv) Describe the daily life of the old sikh couple in
Rawalpindi.

(v) What did the peasant do in the end and what was
the result ?

(vi) How did people react when the Panchlight could
not be lighted ?

(vii) What did Godhan do?

(viii) Is Gangu the hero of the story ? If so, how does the
story make him one?

(ix) Describe the life the dog led after being set free
from the blind man ? 12
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3. Answer any three of the following questions in 150-200 words
each : |

(@) What is the theme of the story, ‘Pigeons at Daybreak’ ?

(b) Describe Tinula's journey from her boarding school to
her village.

(c) Would you consider ‘The Refugee’ as a story about

displacements-—geographical, social, political, moral and
spiritual ?

(d) Bring out the element of humour in the story, ‘Bellows
for the Bullock’.

(e) Describe the excitement generated by the arrival of a
Panchlight in Mahto Toli.

(f) Describe the dog of the story. How did he become a
companion of the blind beggar ? 21

4. Attempt any rwenty of the following.

(a) Change the following sentences as directed :
(i) I do not like milk. (Change into interrogative)

(ii) Do you eat bananas everyday ?
(Change into affirmative)

(iii) She is sometimes angry. (Change into negative)
(iv) We won the game.  (Change into exclamatory)

(v) Why waste time watching T.V. ?
(Change into affirmative)

1401/37,200/KD/896 4
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Combine the following sentences to mak

e compound
sentences :

(vi) My mother gave me an umbrella, It was raining,

(vii) Wise men prefer quality. Fools prefer quantity.

(viii) This shirt cannot be mine. It is too large.

Use the following modals in sentences of your own :
(ix) Can

(x) Must
(xi) Could
(xii) Will
(x11i) Would
(xiv) Should

(xv) Ought.

Fill in the blanks with correct form of the given verb :
(xvi) The Jury ............... (be) considering its verdict.
(xvii) A lot of seabirds .......... (come) to breed on this

island.
(xviii) Either he or his friends ........... (have) done it.
(xix) One of my teachers .............. (belong) to my town.
(xx) Little of crockery .......... (have) broken.

Change the voice :

(xxi) This pot contains milk.
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(xxii) I know him.
(xxiii) Please help him.
Punctuate the following sentences :
(xxiv) you should help the poor the teacher said
(xxv) alas my dog is thirsty said the old man will you
give him a drop of water 20
(b) Do as directed (Attempt any seven).

Use proper Prepocition :

(i) The bag is ............ ... the top rack .......... the
cupboard.
(ii) His clients are happy ........e.u.. Mani's work.
1710 QEE—— peacock is in danger of extinction.
(iv) Could you get me ............... kilogram of tea, please.

Use proper Adverb :

(v) They managed to settle the dispute in ............
(vi) He expressed his point of view in ...........

Use proper Adjective :

(vii) Ilove ............ plays.
(viii) He is a ........... soldier.

Use proper Conjunction :

(ix) He is slow ............ he is confident.
(x) Water .............. oil will not mix. 7
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5. Write an essay in about 200 words on any one of the following
topics :

(a) An electronic gadget that you own.
(b) Your favourite author/writer.
(c) A cultural festival you have organised in your college.

(d) Handsome is that handsome does. 8
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GSE/M-18 1405
fet (arfremd)

Time : Three Hours]

e FvEER I S
1. TAfafe smaol 4 @ @ & 9w = i

() TS 399 T H1 &0 %74 4 org9ed ¢, 99 ot 39
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2 W Y e ¥ fu SE TeRd sTemeenm
FH % fou @ R, 9w e Wi ™ wR
afe o | T W q@, TEM, d T ok
ToE of =, T8 d@ weAm

(@) AFE T B gEl % wd ® fou wms
TR F AN FA F vEm w e 22 wm o€,
A S AT ¥, T IER W ¥ e oA DR
1 ¥ ST B

(M) geut ¥ o w1 T Uy TEE WEweR I W
FHOER FW F A AE T o ¥, s oW Wy
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[Maximum Marks : 80
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(%) W =1} foershty #3 A o ofgal ¥ e ap
TR eerd, W 3@ o) F ToH H WA Ny g
NANWIsw ™2 2 & oo v
-7 wf few 9 R W o weR uw
WA T2 1, G FIR A A (2x6=12)

2. YIS qeF w1 yfawg fAfEq e et e
T TH-ISA FoFUR FACY (1x8=8)

3. Trfafen oqed wwf & 4 = #1 SW A .
(F) 'yt A w1
(@) yFeit Fesw &1 9r|
() YaEHt qew &1 IJWF  SaEwo|
(%) Yoeaadt 92w F §IR g
(¥) Y&t s 1 9m
() yretft ToF § o ok wewm (dxdsl6)

4, ﬁ'ﬂﬁ’!ﬁﬁﬁﬂ’l’fﬁ@ﬁmmw:

(m)mmﬁmwmm -
(@)Wﬁwmmm‘
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5, fefafas o oot & @ & &1 S|W 150 v= H
e

(%) vfmea F amfse affcafem
(@) e 7 ot aRfefE
(77) I<hT[YT &1 G 9fi=g|

() TH&T=T ¥ &1 9w k=gl (2x5=10)

6. Trafafes vedi & @ at =1 sw i .

(F) 91 HT IRAW F1 Ieor@ FHIfTY

(@) & it =i wEene @ Fvi i

() HHE 9w yH@ e e

(%) fe=t Fuimren @R T8 =ee wI faRm{Es wHEEt

(2x5=10)

7. frefafes it W & SW AT :

(F) TEIE F 7 T P T fafau

(@) =@ 7 A A H TR ay e

(M ‘sitEl § ya@ FeEa gEeR w1 qd fome T o

T HIfST
(%) ‘arferg 9fR SR B A0 AR T ot feTEey
I H YA RIS
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(¥) =8N % Ffag & 7= fafan
(F) THafemme fras w2

(®) vfes qeoz st #1 wag Ff 1 Tm)
(W) R 59 Foum & w=fy (8x1=8)
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GSE/M-18 1412

HISTORY OF INDIA
(600 A.D. to 1526 A.D.)
Opt. : (i)

Time : Three 1 ours] [Maximum Marks : 80

Note ; Attempt five questions in all, selecting one question from
each unit. Question No. 1is compulsory. For visually
handicapped candidates, the part relating to explanatory
note will carry full marks,

e THE T A A T T W w0 g, e ot
T N w9 §@ g e B gfedw sefeERy
® U s ot 3 Qs ﬁq@n‘n

Compufsory Question ( AfHar wyw)

1. Choose the correct answer : (2x8=16)
el W 9T ‘
(a) Who was the author of Gaudavaho ?
(i) Vakpati
(i) Kalhan
(iii) Bana

(iv) Alberuni. .

[P.T.O.
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(%) el # das #=9 N
(a7) arRafa
(¥) e
(/) 51
() ¢

l
(b) The most important conquest of Mahmud Gazni was
(1) Multan
(1) Kannauj
(111) Nagerkot
(iv) Somnath.

(@) FER TS H WAN WS AL o

() g
(F) FAS

(§) TRHE

(%) |HAI

(c) The policy of ‘Blood and Iron’ was adopted by
() Razia |
(i) Ala-ud-din Khilji
(iii) Balban
(iv) Ibrahim Lodhi.

1412/2,100/KD/8 2
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(w)‘mma\z'ﬁmmm‘aﬁ

COREL -

(7) sorodm Raesh T

(V) s g

(D WE g
(d) Who wrote Tarikh-e-Mubazakshiahi 2

(1)  Yahya-Bin-Ahamad

(1) Barni

(ili) Arak Ali Khan

(iv) Firoz Tuglaq.
(¥) TRG-T-[ERFIME F TEF B

(1) TrET-faT-1Eng

(%) =t

(R) w ore-@H

(7) fRN g
(e) Which social evil was in Rajput age
(i) Sati Pratha
(ii) Casteism
(iii) Child Marriage
(iv) All .
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g)wmﬁmﬁﬁ-ﬁwmzﬂ?
(37) T gem
(F) wfa wem
(9) aA-Egare
(%) =+t
) Who was the Muslim Woman ruler of India ?
(i) Nurjehan
(ii) Chandbibi
(iii) Razia Beghum
(iv) Mumtaj.
=) YRG W §oH Rem wfeen wWigE B efi?
(31) &=
(<) =g St
(®) & ™

(%) gHamt|
g) Ibn-Batuta visited India during the reign of

(i) Ala-ud-din Khalji

2
(i) Firoz Tughlaq
(i) Mohammad Tughlaq
(iv) Sikander Lodhi.
/2:100/KD/8 4 I
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(v) 9@ ¥ g fews w@ W o

() FAFEA G
(7) fras e
(W) gg=s et
(%) frmae A

~(h) Hiuen-Tsang came to India at the time
(i) Ashoka
(i)
(iii) Chandergupta

Harsha

(iv) Bindusar.
() TEEm 9k # R @ w H T
(31) TENH
() &
(@) T
(%) fagam
UNIT-I (3&E-1)

reign of Harsh.

of

Who was Hiuen-Tsang ? What Light has he thrown on the

16

I FF o7 IT THOHT F UREE W FT TR

TN 22 |
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Describe the salient features of the Chola Administration.

16
<R W SEEe # WgE fawear e
UNIT-II (FehE-11)
Describe the invasions of Muhammad Ghori's in India.
16

IR § qER T 5N 6T T SEEO 1 qui Hifee

Discuss the achievements of Balban as a Ruler. 16

TG P TR H T B THoART FH Soorl@ FR

Examine the main features of the society under Delhi
Suitanate. 16

faeeht Toaa B o wH # wgE faetvarel @ ==t
F

UNIT-III ( 3htE-III )

Give a brief account of the economic and technological
developments during the Sultanate period. 16

feceft Todad Fa7 § TC oNfYE WE dhAlRl ™ #
e o 2l

What is meant by Bhakti Movement ? Describe the causes

of its rise. 16
o eTRIed ¥ ouE F SR yE }? e I @
O T FOH H -

12/2,100/KD/8 6
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UNIT-1V (F&E-1V)

9. On the outline map of India show the extent of Harsha's

empire. Also add an explanatory note on it. (10+6=16)

W%@Wm,mﬁmm@—mml
mm@m@mmﬁﬁﬁml

-10. Write a brief note on Muhammad Tuglaq's Empire on Indian
Political Map. (10+6=16)
arE @ Y@ited TER W YEER T § S H
i T e feh ferdl -
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GSE/M-18 1411

HISTORY OF INDIA

(600 A.D. to 1528 A.D.)
Opt. (I)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Q. No. 1 is compulsory.
Attempt four more questions selecting one question from
each unit. For visually handicapped candidates, if they
attempt to question relating to map, the explanatory note

will carry full marks.

T : @uhmmi?qu#mlaﬁmﬂ%m
¢ § Y TR W T T IR I W FI
d i gw Tt § @@ WA R W
SrEETE et ® R oSiE e

Compulsory Question
(tfrard we)
question. Each question carries 2 marks.

1. Multiple choice
75 faed WAl TEE WA 2 HF 2l

(i) Who founded four Mathas in the four corners of India ?

(a) Shankaracharya
(b) Ramanujacharya
(c) Bhaskaracharya
(d) Madhvacharya.

1411/15,000/KD/7/Map of India [P.T.O.
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YRa & IR HA B =R TS H RO R o
oft?
(37) viw=d =

() THSEE =
(9) 9 A

(%) =g Al

(i1) Vikramsila University was established by the rulers of
(a) Pushyabhuti Dynasti
(b) Barman Dynasty
(c) Sen Dynasty
(d) Pal Dynasty.
fomrmsfien favaiaemem #1 s fve 990 & o
% F H T o2

(37) Tasffe I
() I 9
(9) 99 a9
(X) o 9

(iii) Who of the following was a contemporary of Chengiz
Khan ?

(a) Mahmud Ghazanvi
(b) TIltutmish
(¢) Alauddin Khalji

(d) Muhammad-bin-Tuglagq.
1411/15,000/KD/7 P
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frfafes § @ F9 =999 @ FH GEFEH o
(37) HEHR TS
CIR-HGILN

(V) e Taersh
(X) gewe-fam-greren|

(iv) Who of the following was the First woman ruler of
medievel India ?

(a) Razia Sultan

(b) Chand Bibi

(c) Durgavati

(d) Noorjahan.

fraifed § /@ TH TASEN WRA R Ve e
RS E R

(&) T g

(%) =R A

(9) Foedt

(T) =l

(v) When Babar invaded India who was the ruler of Vijay
Nagar empire ?

(a) Narasimha
(b) Devaraya II
(c) Krishan Devaraya

(d) Devaraya .

1411/15,000/KD/7 3 [P.T.O.
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w%aﬂmaﬁmﬁmwmmm
P 41

(37) Rfqwe

() T fgdg
(¥) F1 =T
() T=E Jem|

(vi) The Behamani Kingdom was founded in the year
(a) 1336
(b) 1338
(c) 1347
(d) 1361.
TET WEHRA HT T g ot
(1) 1336 o
() 1338 #
(9) 1347 ®
(%) 1361 H
(vii) Which Sufi saint's Dargah is at Ajmer ?
(@) Khwaja Nizamuddin Auliya
(b) Khwaja Moinuddin Chisti
(¢) Khwaja Salim Chisti
(d) Khwaja Kutubuddin Bakhtiyar Kaki.
1411/15,000/KD/7 4
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fFdt go ¥ # o s B
(1) T e it
(9) &1 geRde fawd
(V) &t welm e
(X) &N HIRER sfamar st
(viii) ‘Git Gobind’ the famous poem was written by
(a) Jaya Chandra.
(b) Jaya Dev.
(c) Jaya Singh.
(d) Jayant. (8x2=16)
g e ‘e feR’ # deE E-
(37) SFE=X
(9) wRa
(¥) wafqe

(¥) SHE=l

UNIT-I ( 3am3-1)

2.  What do you understand by Tripartite struggle ? Was it really
the most important event of this period ? 16

fouef od @ oMY F wHE ) W avem ® A€ W
F F TIQ e e i

1411/15,000/KD/7 5 [P.T.O.
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Write an essay on the Culutral trends of early medieval
period. 16

T-HAHRA gt vt w v ey )

UNIT-II ( ght3-11 )

4. Who was Muhammd Ghori ? Throw light on the invasions
made by him on India. 16
TR IR HE o917 ARG W SUS gR R T emmmm
™ TFHE T

S. What were the causes of the downfall of Delhi Sultanate ?

16
feoeht oo ® W P W wRO 9
UNIT-III ( 3%E-111)

6. Write an essay on the development of Industry, Trade and
Commerce in the sultanate period in India. 16
T 1A F O9IRG | SN, SR @ e % Ty
R & fray fod)

7. Describe the main features of Bhakti Movement, 16
afF sTRiem 1 e favmme 1 oFvR W=

1411/15,000/KD/7 6
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UNIT-1V (F&TE-1V )

8. On the outline map of India, show the extent of Harsha
empire and also write an explanatory note on it. (10+6=16)

IR & [W-TAET W g8 & 9yeg faar #1 g9t
qem UK feuoft ot fafguy

9.  On the outline map of India, show the extent of Vijay Nagar
empire and also write an explanatory note on it. (10+6=16)

TRd & W-AAfay W e R 9ue ® IWIRe 99
Sy fewoft o faf@u)

1411/1 5 000/KD/7 7
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GSE/M-18 1415
MICRO ECONOMICS-II
Paper-I
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 and 2 are
compulsory. Attempt the remaining three questions
selecting one question each from any three of the four

units.

M . H/A e T F IW AT TWT F& 1 a9 2
sfEd B S A W ® fAu YR a7 ¥
el = ¥ 9 um-uEm Y A

Compulsory Question ( A& W9 )

1. A farmer with his ‘A’ Grade Land produce 35 quintal wheat.
As the demand of wheat increases he produce 30 quintal
wheat with the use of ‘B’ Grade Land, 25 quintal wheat
from ‘C’ Grade Land and 20 quintal wheat produce from
the use of ‘D’ Grade Land. On the basis of above idea answer

the following questions :

(a) Who gave the theory of Economic Rent firstly. Define
the meaning according to him.

(b) Determined the Rent of all grades of land of Farmer.
Also use the diagrams.

(¢c) Explain the different kinds of Rent.

(d) On which basis the theory is critised ? (4x4=16)

1415/7,100/KD/11 (P.T.O.
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@WM‘A'WE‘T@WMWB
fdea g &1 e w ¥ SR-W W F A F gy
T ¥, d9-4 I B’ WS F M W WM w3
fFed M, ‘'C' IT w9 w1 oW w25 e w
W ‘D' UT F 9w owEM w20 fEem W W
SR WO ¥ W gE ® MR R freAfafes A @
IW EfFu .

(F) s ovm fag= wawew frd e am? s3=
TR 4 o= FY|

(@) fFam =t Tpl 9fF | yw @ A T W
fuife s wfes =1t vam sifsw

(M oM = o= v #1 =rEn st !
(9) fF7 v R T fag #t o H ME?

2. (A) Choose the correct answer :
(a) Supply remain constant
(1) Long-Run
(i) Short-Run
(iii) Very Short-Run
(iv) Very Long-Run.

(b) Under monopoly price of the product determined
by

(1) Government
(1) Customer
(iii) Firm

(iv) None of the above.
1415/7,100/KD/11 n
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(c) Product differentiation was developed by
(i) Keynes
(1) J.S. Ben
(iii) Baumol
(iv) Chamberlin.
(d) Quasi Rent =
(i) TR-TC
(i) TR-VC
(i) TR-FC
(iv) None of the above.
(e) Person gives money for borrowing known as
(1) Debtor
(i) Buyer
(iii) Lender

(iv) All the above. (5x1=5)
e IW F G W
(%) off feer Tt 2
(i) e
(i) STeTHTA
(iii) Afa- Ao
(iv) Afa-Lrewre|
1415/7,100/KD/11 3 [P.T.O.
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(@) EER § I F A w1 fufE s
7
(i) ¥&R
(i) U
(i) =H
(iv) 3T § | HrE T
(M) T-fadr = ouwon fEER f oo
(i) == Al
(i) T8 =
(iii) am A A
(iv) J=fem Al
(9) A9E T =
(i) |A IA@-FA &
(i) A -fedeie o
(iii) {gA 3MA-FeeR &MTR
(iv) TR § ¥ P
(T) St =R T YR W ¥, 3§ wEd E
(i) =oft
(i) Susfrem
(iii) SEOTETan
(iv) I msf

1415/7,100/KD/11 4
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(B) Mach the following :

(a) Rent (i) Horizontal Line
(b) MEC in Perfect Competition (ii) Change in TR
(¢) Minimum loss (iii) Zero Profit
(d) MR (iv) AR < AC
(e) Break-even point (v) Permanent in
nature

(5%1=5)
= = e o1 .
(%) T (i) T9ATR @
(@) 7ot whwEfm & (MFC) (i) =@ & ¥ IREa
(M) =AaH A (iii) Y@ w4
() MR (iv) AR < AC

(z) wu-fa=z g (v) wfa o wom

(C) Define the following :
(i) What is meant by Market ?
(ii) Define Non-price Competition.
(iii) What is Differential Rent ? (3x2=6)
fre w1 wRemw foE
(i) TR § T A ¥
Gi) R-Fra s w oRafa Sl
(ifi) ST W ¥ s ¥
1415/7,100/KD/11 5 [P.T.O.
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UNIT-I (3&E-1)

3. What is perfect competition ? Explain how price is
determined under perfect competition ? 16
o et = 8?2 aviR Y e ool s ® o=
mma S fuife e 2

4. (a) Explain the Difference between market price and

Normal price. 8
(b) Explain the importance of time element in price
determination under perfect competition. 8
(F) TR FHa R THE FHg § ofw I =
FIfST
(@) QUi wfaaifman & s=ria ®igq fuko § @99 09 #
HE & qUH FII
UNIT-II (F&E-11)

S. Define monopoly. Discuss price and output determination
under dumping. 16
THITYFER HT g g IR F =i #1999 a0
SArA %yt & ==t w1

6. How price and output are determined under price
discrimination ? Explain. 16
Fma A § wmg ok Samm w9 fvife g @2
=T Fe|

1415/7,100/KD/11 6
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UNIT-III ( g&hmE-II1 )

7. What is monopolistic competition ? Explain the price
determination under monopolistic competition in the short-
run 16

THIYFR WG 1 82 oouse ¥ R[S
# Fa ®mEd » HuRo # osmen sifsw

8. Define an aligopoly. How is price and output determined
under oligopoly. 16

ITTUMYFR HT TR AT erewfudr o FI9a qen
IO B fuifE g 22

UNIT-1V (F&E-1V)

9. Differentiate between money and real wages. What are the
factors affecting real wages ? 16

THE T TGH A H RR TR FIWU arafa®
oY ! BN W qE wiEe w82

10. Ciritically examine the classical theory of Interest. 16

N F WA fagm # ST gHen S

1415/7,100/KD/11 7

Scanned by CamScanner



Roll NO. scusmisesmense Total Pages : 7
GSE/M-18 1446
POLITICAL SCIENCE
(Indian Politics)
Paper-I
Opt. (i)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all. All questions carry equal
marks.

A : FA ol T W T A F 3w g &

1. Examine the causes of tension between Centre and State in
Indian Political System. 16

O ToEIfE O § RR-T] T H a e ®
FRON F fEEER F:l

2. Discuss the emerging trends of Indian Federalism. 16
R SEEE #1 I Wi w1 oFve @il

3. FExamine the composition and importance of the Election

Commission in India. 8,8

arm B Prafe oM @ Wt ©@ W W e w0

1446/3,750/KD/33 [P.T.O.
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4. V\{hat do you understand by Voting Behaviour in India 9
Discuss the factors influencing it. 8,8
R W TR SEER ¥ a1 @ wwed €2 Tee gk
FH T TS TR

S.

Discuss the nature of Indian Party System. 16

A ® AT oyl 3 v @ avl wy

6. Describe the merits and demerits of Pressure Groups. 16

TAE T T OO AT TS w1 Seorm FH

7. Describe the role of Language in Indian Politics. 16

A T A A gfE w1 S

8. What are the main challenges before Indian Political System ?
Discuss. 16

qRAE TR sFaeen & woa SA-9 wow gifwt §2
FofA I

1446/3,750/KD/33 2
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9. Objective type questions.

TGS T

(i) Telangana is going to become India's

(a) 36th state

(b) 29th state

(c) 28th state

(d) 24th state.

AT WRA F BE-T1 TR T W T 2
(1) 363

(|) 293t

(W) 288

(%) 2431

(ii) Subjects related to Concurrent List is given to
(a) Parliament only
(b) States Legislatures only
(¢) Both (a) and (b)

(d) None of the above.

1446/3,750/KD/33 3 [P.T.O.
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vt gt @ fww fg g ¥
() 57 FOE @
(3) FF@ T furmased #
(F) () aam (F) T A
(3) SR ® 4 Rt w e
(iii) Election Commission consists
(@) Chief Election Commissioner only

(b) Election Commissioner only

(¢) Chief Election Commissioner and two Election
Commissioners

(d) None of the above.
fratem o & #

() Fa@ qoA frarem e

(7) ®ae fraem JTgF

(W) T T AR T W T g
(%) SF ¥ ¥ w T

1446/3,750/KD/33 4
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(iv) Who is the Ex-offico Chairman of Planning
Commission ?

(a) Prime Minister
(b) President
(¢) Finance Minister
(d) Commerce Minister.
AN @M W @A snaw FWOEW ¥ 2
(1) qumHs
(F) Trgafer
(%) famesit
(%) == it
(v) Local Government is the subject of
(a) Union List
(b) State List

(c) Concurrent List

(d) Residuary.

1446/3,750/KD/33 5 [P.T.O.
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e W ot
(F) F T«
(3 ™R T «
(T @«

(D) =R

(v1) Who is the author of *Cast in Indian Politics’ ?
(@) Morns Jones
(b) Jennings
(¢) T.L. Bhargava
(d) Rajni Kothari.
‘Cast in Indian Politics’ W& (&% ® was ¥
(37) wf| |
() g
(]) Aw@. «riE
(%) T w=r

1446/3.750/KD/33 6
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(vii) Political Parties are registered by
(a) Parliament
(b) Supreme Court
(¢) Election Commission
(d) Governor.

T w qSpa fE o @
() ¥ §N

() 9a=a IEwd T

(V) 9@ @M 3
(%) TEIA g
(viii) Which was the first state formed on language basis ?

(a) Haryana
(b) Andhra Pardesh
(¢) Gujarat
(d) Himachal Pradesh (8x2=16)
O F YR R TEA TUH TF PH-F 41?7
() EREmon
(F) T &Y
(|) TSada
(%) feame Wi

1446/3,750/KD/33 7
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R Total Pages : 3

GSE/M-18 1445
POLITICAL SCIENCE ,
(Indian Politics)
Paper : II
Opt. No. -1
Time : Three Hours [Maximum Marks : 80

Note : Attempt five questiorns in all, selecting one question from
each unit. Question No. 1 is compulsory. Each question
carries 16 marks.

M : TEF WE Y TE W T L, K@ U A w
IR AW w1 T 1 ofEd R wOw W 16
Gealico ik §

Compulsory Question ( 37fa™ wyT)

1. Write short notes on the following : (8x2=16)
(a) Why India is called a Qussi-federal State ?
(b) What is meant by the Autonomy of States ?
(c) Mentibn any two features of Indian Electoral System.
(d) Explain is short problem of Political Defection in India.
(e) Explain rwo features of secularism in Indian
Constitution.
(f) “India is a multi-lingual state” Discuss.
(g) Give two reasons how does the Reservation Politics
effects Indian politics ?
(h) What do you mean by criminalisation of Politics ?
[P.T.O.

1445/12,200/KD/32
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4.

frafafes w @ feofral fafag .

(F) RG F TP-TOEE TG I OE W ¥

(@) T 1 w@rEEd w1 o aqd 77

() W g woTe A favmem )

(F) @ H Tofifes ga-aa 1 wEen qan d A

(F) arRdra wfaard 4 vd fowe oAt ar e
AT

() "9 TF qg-Et T 417 e w

(D) WY F T AT TG B FI-FE q0F
¥ gufad w

(W) Tofa & omouefiete § ot F sTTd %2

UNIT-I (Fam3-1)

Explain the nature of Indian Federalism.

O GEEE F @e9 & Ui FHi

What is meant by State Autonomy ? What. are the major
reasons for the demand of State Autonomy ?

T @EEa A o 2 T | 3 a7
TE FRO B?

UNIT-1I ( 3&tE-11)

Explain in detail the main features of Indian Electoral System.

I A YOIt Rt g faewast w1 fymr § 999
F

1445/12,200/KD/32 2
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Examine critically the Role of Election Commission of India.

RUCHC IS R G IR - T R S —
UNIT-III ( ¥&Te-II1 )

Ho?w Political Parties are registered in India ? Discuss the
main problems of Political Parties in India.

T H T T % T 39 g %7 9w §
TSIl <o ®1 5O waeqel w1 g wi

Explain the effects of Regional Parties on indian Politics.

IREg oA W e Tenifte gell’ % U9 %1 §ue
=yl

UNIT-1V (¥&E-1IV)

What is meant by ‘Caste’ ? Explain the interaction between
Caste and Politics in India.

‘Sfr wm oF oY B2 9Ra ¥ ‘wfR’ den ‘ueeifa A
sR-fFam =1 = FX

Write down the constitutional Provisions with regard to
Reservations. Are you in favour of Reservations ? If Yes,
give Reasons in support of your answer.

SREUT TR Gauife s fad| & ST e ®
gy H E? AR W, M SW H uw W T 2

1445/12,200/KD/32 3
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‘ Time : Three Hours]

Note :

oooooooooooooooooooooooooo

LAIN
pPee2elf

Total Pages : 05

GSE/D-18 701
ENGLISH

[Maximum Marks : 80

Attempt all questions.

L. Trauscribe any eight werds out of the given twelve

Car, Vision, Ten, June, My, This, Love, Well, Red, Z00,
Girl, Father. 8

2. Answer any four questions in about 30 words each :

(a)
(b)

(c)
()
(e)
®

Who was Bumba ?

What is the first formative influence on the
individual 7

Why can man be not accepted as a finished product ?
How dJid Gandhiji's faith in segciurianism grow ?
What makes human beings autonomous learners ?

According to Shastriji, who is a good citizen ?
4x2=8

3. Answer any five in about 75/100 words each :

(2)

(b)
(©)

What were the problems fac;ed by the peasants all

over India 7

Discuss the difficulties faced by the young students

f)
1te he positive side of rebelliousness :
Write about the p =

(2-073) L-701
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(d)  What role does language play in the national
awakening of India ?

(¢)  What is the significance of these three series of the
‘paralying effect’ ? (Wounded Plants)

(f)  Describe the relationship that Gandhiji shared with

his friend.

(g) What is the culture of excellence, according to Dr.
Kalam ?

(Great Books Born Out of Great Minds)

(h) Discuss the relevance of the title of the essay

‘Choosing Our Universe’ ? 4%x5=20

4. Read the following passage and answer the questions that

follow :

In the 50 years since Independence, after Nehru's famous
‘Dams are the Temples of Modern India’ speech (one he
grew to regret in his own lifetime), his foot soldiers
threw themselves into the business of building dams with
unnatural fervour. Dam-building grew to be equated with
nation building. Their enthusiasm alone should have been
reason enough to make one suspicious. Not only did they
build new dams and new irrigation systems, they took
control of small, traditional systems that village
communities had managed for thousands of years and
allowed them to atrophy.
L-701 2
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Questions :
(i) What did Nebru say about dams in his speech ?
(ii) With what was dam building equated ?
(iii) What was the reason to make one suspicious ?
(iv) What did the big dams do ? 4
5 (a) Write antonyms of the following (any two) : 8
(i) arrival (i) correct
(111) rare
(b) Write synonyms of the following (any two) :
(1) allow (i) agree
(ili) happy o
(c) Give one word substitute for the following (any
wo)
(i) A bunch of flowers
(i) One who imitates the voice and gesture of
others
(iii) One who writes for the newspaper
(d) Make sentences of the following words (any two) :
(i) deal - (1) guide
(iii) encounter
6. (a) Fill in the blanks with the suitable form of verbs
given in bracket (any twelve) : 12
(i) The boys.......... table tennis. (play)
(ii) Ahmed and Rafi.......... on their way to school.
(be)
@-0714) 1701 .3 L
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|
(ii1)) Mahesh has been a teacher.........-. 2000.
(since/for)
(av) She......... -.the match tomorrow. (play)
v) We........... for three hourse. (wait)
(vi) We........... to the theatre last evening.  (go)
(vii) It........... everyday this week. (rain)
(viii) The accident.......... at 10.30 this morming.
(occur)
(1x) He........... not........... to us since last Christmas.
(write)
(x)  You will not succeed unless you........... harder.
(work)
(xi) The patient........... already........... before the
doctor came. (die)
(xii) She........... upoﬁ the sitar when I went to see
her. (play)
(xiii) The thieves........... before we came back. -
(break through)
(xiv) Think carefully before you........... (answer)
(xv) Hurry up, we........... late. (get)
(b) Do as directed (any rwelve) : 12
(i) Form nouns from the following verbs :
(1) Advise (2) Choose
(3) Discover
(i)  Form adjectives tfrom the following nouns
(1) Youth (2) Year -
(3) Addition ’
L-701 4
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(ii1) Give the comparative and superlative degrees
of the following adjectives :
(1) Good (2) Bold
(3) Bad

(iv) Fill in the blanks in the following sentences

with suitable prepositions :

(1) They are sorry........... having disturb you.
(2) T am fond........... coffee.
(3) Rinni was angry........... Simon.

(v) Fill in the blanks in the following sentenccs
with reflexive pronouns :
(1) I painted this house...........
(2) Do your homework...........
(3) They........... are responsible for the

accident.

7. Write a paragraph (in about 200 words) on any one of the
following : 8
(a) Environmental Pollution
(t;) Value of Games
(c) My First Day in College
(d) My Favourite Book.

5 29,100
(2-07/5) L-701
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Roll No. ...ueeeereenn.. Total Pages : 05

GSE/D-18 702
ENGLISH
Paper 1
Time : Three Hours] [Maximum Marks : 80

Note : All questions are compulsory.

1. Transcribe any eight of the following words :

(a) work (b) myth
(c) age (d) battle
(¢) need (f) field
(g) period - (h) spin
(i) mind () leave
(k) task (I) race 1x8=8
2. Answer any four of the following questions in about 30
words each : 2x4=8
(3) Why can man be not accepted as a finished
préduct ? |
(b) What do you understand by the term ‘Big Bang
Theory’ ?
(¢) Why is rebelliousness common in young people ?
(d) Why are big dams undemocratic ?
(2-32/10) -702 P.T.O.
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. coe faith in vegetarianism groy,
(¢) How did Gandhiji's faith in vegcla grow, o

() How do stories help us ? _

Answer any five questions in about 75-100 words each, -

'w

(a) What relation does the author establish betweep

man and language ?

(b)  Who according to Nehru is Bharat Mata ?

(¢)  Explain the term ‘secularism’. Why is it necessary ?

(d)  What is the result of paralysing effect ?

(¢) What do scriptures say about the origin of the
universe ? .

(f)  Describe Gandhiji's attempts to inculcate the qualities

_ of an English gentleman.

(g) ‘There was a time when big dams moved men to
poetry.” Explain this statement.

(h) Explain the title of the chapter, ‘The Generation
Gap’. 4x5=20

4. Read the giveri passage and answer the questions that
follow : |

The human brain has been on a slower evolutionary
trajectory than the technology and our brains still respond
to content by looking for the story to make sense out of
the experience. It is very important that we revisit
storytelling in a serious manner and ensure that stories
remain authentic human experience. Let the stories leap

L-702. 2
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frog the technology and bring us to the core of human
experience about collaboration and connection.
Questions :

(i)  What does the author say about the human brain ?

(1)  What will our brain respond to ?
(111) How should we revisit story telling ?

(1v)  What should stories bring us ? 4

5. (a) Give one word substitutes of any fwo of the
following :
(i) One who believes in God
(11) Not completely dry
(iii) A small hill or mound
(b) Give synonyms of any fwo of the following :

(i) right (i) continuous
(ii1) tie |

(©) Give antonyms of any nwo of the following :
(1) difficult (i) gain

(ili) mastery

(d) Explain any two of the following words/terms :
(i) culture (il) e-mail
(iii) habitat 4x2=8

6. (a) Fill in the blanks using the correct form of verbs
given in the brackets (attempt any twelve) : 12x1

(i) What.......... you weep ? (make)
(i{) The water........... not fit for drinking. (be)v
(2-32/11) L-702 3 ' P.T.O.
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(i) L. for a walk daily.

(go)
(tv)  The clouds...... . across the sky. (move)
(V) Sheena........ to Dubai. (go)
(V) This jug..........ten litres. (hold)
C(vil) Lo to him next week. (write)
(Viij) Rama........... the marriage. (attend)
(1X) They........... the match tomorrow. (play)
(X)  She........... for five hours. (work)
 (xi) The chairman....... .. me yesterday. (meet)
(xi1) She........... by ear. (come)
(xiii) Listen! I.......... there is someone 2t he door.
(think)
(xiv) Four and four.......... eight. (make)
(xv) Tt........ heavily since morning. (rain)
(b)  Attempt any twelve : 12x1=12

(1)  Change the following sentences into negative :
(1) Ravi plays football.
(2) Kiran is a doctor.
(3) Mohit studies everyday.
(4) Children like toffees.
(i1) Fill in the blanks with the proper degrees of
- the adjectives given in brackets

(1) Geeta is the............ friend I have. (good)
(2) TIron is............ than any other metal.
(useful)
(3) My horse runs............ than yours. (fast)
| (4) Meena is a............ girl. (clever) i

L-702 - 4 | J
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(iii) Fill in the blanks with suitable prepositions

(1) Smoking is injurious............ health,

(2) He recovered............ denpue.

(3) I prefer juice............ tea.

(4) The boys live............ the hostel.

(iv) Fill in the blanks with suitable conjunctions :

(1) He is slow............ he is confident.

(2) Reetu was annoyed, ..........she kept her
cool.

(3) He ran fast........... he was afraid of getting
caught.

(4) Tell Jai........... [ will go.

7.  Write a paragraph in about 200 words on any onc of the

following topics : 8
(a) Importance of Water Conservation
(b) Communalism
(c) The Value of Newspapers
(d) Life in a Big City.
L-702 5 26,100
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GSE/D-18 706
HINDI (Compulsoty)

' Time : Three Hours] [Maximum Marks : 80
Fe : Wity e §

1. frefafeg § @ fesl & & =arem SIfET 0 6+6=12
(%) TEU BT YEel, HR T FER |
@ WY I @, g &R U
¥ wyq few g, w0 HE SO
gal gR 2|, aW SAfd 9l
(@) TR R wiEd = ahd |
I g9 #H A% 4§ W U @ BR TR |
S, Gad G, el HE SR |
Wmm@m!ﬁmml
(m) wq | faem w6 EE
g e o9 ¥ dR, 9 TR ® W
mwmw,ﬁm@ql
fi @ wy freR W@ e @ EE |
(@) Feq, 7ed, dga, o, fiem, feem @hEE |
o o9 § @ €, A & |

" (3-07/9) L-706

P.T.O.
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2. Q@R St faed © ® TH w1 HecAD e Sy |
| | :

3. frfafeg § ¥ fedl o) WA F SW 150 W=y g
¥ 4x4=16
(F) IR w1 ww-det | @au H wEw sl
(@) fed & g7 | v W SewE KT |
(M) TFR & Yu-feor AT O?

(9) WEM B weE-dkd W OTER Sy |

4. frefafen § @ fesl @ Tl & SW MGIT ;. 8x2=16

(F) Somer w@ B Hwed B foRmasl w1 Sww
i |

(@) o<t wfedfde® Wau &1 Wi ufem s

(1) e W AHET F G F I HIAT |

(1) sTfF Y O uRReRE w whed AR |

5, frafafe & @ = & vl & W 150 TR A
g - | 5x2=10
(%) faet fogel g0 @ o fed-shwm el

_. e fagwad saed |
(@) ‘digeaca @' @ iy ufea |
(M) WA F e T wenformar W feoft FIN
() e S wfse @1 waw § avd

L-706 2
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6. frfafad & & frei @ wi % v B - 56010
(F) ‘T’ @ F wRwm 5 s ffew
(@) 'T7%' IFR w1 WREwW 3 T3E ffEm g
(M) F13-T0 fF8 23 € ? 393 95 = W f=fan |
(9) <& w==-vfsd &1 g ST a@fEm HET

N

7. fr=afafas aft oqgfi= o & s difsg . 8x1=8
(F) GE wt f&5d e @1 o1 ™ fafa |
(W) WEA & oA 39 FH ¢ 7
(M) YRS T fRE s A dEd R 7
(9) THEAR a9i St 7 ke F1 fFE W 9 @7
(¥) foeht ©F T Hfa &1 W farEg |
.(a)Wmmwﬁrﬁm@m%?

(3) frdt T F=E-IW w1 AW fEET |
(,a)gaﬁ-{ﬁq-sﬁmwwm?

32200
(3-07/10)L-706
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RO NO. ovciccnnecinciaraene Total Pages : 05

GSE/D-18 713
HISTORY
Option (ii)

Ancient History (From Earliest Times to
Gupta Age)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting at least one
question from each Unit. Q. No. 1 is compulsory. The
part relating to the explapatory note on map will carry
full marks for visually handicapped cantidates only.
s THEE ¥ TH WA IR g F/@ WA WA B
S AT | W gem 1 et § 1 e e
<1 EfEs g ool o 9 o wE /R

few s |

(Compulsory Question) atfrard u)

1. Write the correct answer : 2x8=16
&t S I
" (i) What is the total number of Puranas ?
(@) 6 . (b) 12
(c) 18 (d) 24
T (3-46/14)-713 P.T.O.
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S’

TR A

(i)

(iii)

(iv)

L-713

o @ e g ¥

() o6 (%) 12

(|) 18 (%) 24

Name the book as Kautilya :

(a) Arthashastra (b) Harshcharit

(¢) Rajtarangini (d) Naganand
e # wag W §
(1) adfomes - (@) wEARA
() TS (%) PR
When was the Indus Valley Civilizéltion discovered ?
(a) 1926 AD (b) 1921/22 AD
© 1934AD (&) 1925 AD
foy W& H A HwW oG =4 T ?
(1) 1926 . () 1921722 %
(d) 1934 % () 1925 %
The famous God of later Vedic period was :
(a) Shiva (b) Agni
(c) Vayu (d) Vishnu
I Cica H‘T. F1 JfOg Taar o
() o= (%) af=
() 913 () forsy

2
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(v) Lord Mahavir was died in :

(a) 465 BC [b) 468 BC
(c) 487 BC (d) 489 BC
WM HeER w1 frefor gam

() 465 2.1, (9) 468 57
(9) 487 %1 () 489 % 1.

(vi) Which among the following was the Capital of
Gandhar Mahajanapada ?

(@) Shravasti (b) Patliputra

(c) Taxila (d) Kapilvastu

frafafen & @ S TR 9REEE # U9

off ? '

(31) s () urefegs

(|) agferen (Z) hiveres
(vii) When did Ashoka die ?

(a) 232 BC (b) 261 BC

(¢) 273 BC (d) 298 BC

T WIE H G FA G ?

(1) 232 %1 () 261 &4,

(|) 273 %%, (3) 298 4.

(viii) The Gupta king who destroyed Sakas was :
(a) Samundragupta (b) Chandragupta-I

(¢) Kumargutpa (d) Chandragupta-II
vy &1 A feg @ wEe 4 fEar ?
() wgI« (9) I=I<-1
(|) AR (3) =I=I<-II
- (3-46/15L-713 3 P.T.O.

Scanned by CamScanner



Unit I 318 1)

Describe in detail the main features of *Hunter-Gatherers’

!J

lite in Mesolithic Age in India. 16
Wﬁnmwmmﬁm‘m@m-am’aﬁaqﬁg@
fovraa@st 1 famr 9§ aviv =i |

9

Write a short essay on political organisation of Harappan

Civilization. 16

TS WAl & qoHIaE GTe W Hiiw frew fafew |

Unit II (313 1)

4. Describe the 16 Mahajanpadas in 6th Century B.C. in,
India. 16
B3 MATT 3. Y H 9RA W 16 HIEHAGR & FUH HIFT |

5. Write an account of life and teachings of Lord

Mahavira. 16

TeER @ ® Sited R fensi &1 avie wifwg |
Unit ITI (318 1II)

6. What do you understand by Ashoka’s Dhamma ? Also

describe the means of propagation of Dhamma. 8,8
Sl @ U Y T N UHEd § 2 39 YOR % Wl
%1 st gui RIS | |

L-713
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7. Describe the major conquests of Samudragupta 16
. )

FERIR R W o @ Aok it

Unit IV (3T 1V)

8. On the outline map of India show that Ashoka’s Empire

Extent Pillars and Edicts. Also write an explanatory

note. 10,6

TR & Y@ TR W e S - faen, e

d@ IR Rremerg 3wz 9o 39 W v =
9 fafeg |

9. On the outline map of India, show the extent of
Samundragupta’s Empire. Also write an explanatory
note. 10,6
gRd 3 YaEifed WAfe W 9w & 9med fawal @
Txfer qu T oA feogelt st fafe |

| | 15,500
(3-46/16)L-713 S

|
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Roll No. v cvvriiien Total Pages : 03
GSE/D-18 717
INDIAN CONSTITUTION
Opt. (1)
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all, selecting one question
from each Unit. Q. No. 1 is compulsory.
T Afu | g Hem 1 atEd

Compulsory Question ( stfard 9y )

1. Short Answer Type Questions : 2x8=16

oY ITE Y e

(i) Describe the fwo sources of Indian Constitution.
g dfeus & & @a fafee |

(ii) Write the rwo Fundamental Rights.
& dfes fER # Seei@ FI |

(iii) Who is Speaker of Lok Sabha ?
A g FAE HH 2 2

(iv) Write a note on Article 356.

TR 356 W T @ fafan |

. (2-5513) L-717 P.T.O.
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i 57

(V) Who was the President of Constituent Assembly of

India
VIRG 1 dfaum Far sl AR HH al
(Vi) Who is the President of India ?
WRA 1 uwdld wmE B 7
(vii) Who presides  the Joint Session of  Indian

Parhhlament ?
TR GHE @ G i i AT FM F
g ?

(viil) Who is the Chief Justice of India ?

YRAd F G A hH T2
Unit I (318 1)

7. Discuss the salient features of Indian Consti.. tion. 16
ar Gfaue w1 qed favieael # aviE Fifee |
3. Critically discuss the Directive Principles of the State

Policy. _ 16
Tt @ freve fagml 1 e qui i |

Unit I1 (318 11)

4. Describe the composition and powers of Union Council

of Minister. 16
ety Afs ORUg H A SR widl H v Hife |

L-717
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5. “How is the Govemnor of a St: » appointed ? Describe hie
role in state politics. 16
T S T w1 e A A A7 e A
°q ST iRt o= Fi |

Unit 11 (318 111)

6. Explain the composition, functions and powers of Indian
Parliament. 16

7. 'What are the main features of Panchayat Raj System

Explain it. | o , 16
S T Tt A ged s e e 7 3Rl A
HIfeT |

Unit IV (318 1V)

8. Wrife a note on the structure and position of Supreme

i 16
Court of India.
W@aﬁﬁwﬁmﬁﬂﬁaﬁm@ﬁw

fafe |

9 Whai do you mean by Judicial Review ? Give your
| arguments in favour and against of Judicial Review. 16

w@ayﬁﬁaﬂﬁmwaﬁm%?mﬁaﬁﬁﬁm
évmﬁmaﬁaﬁﬁmn

9,150
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GSE/D-18 722
MICRO ECONOMICS-I
Paper |

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q.-No. 1 and 2 are’

compulsory. Attempt the remaining three questions

selecting one question from any three of the four Units.
FA U J¥E $ SW AT | wv e 1 e
2| YEF R W U WA I g AT A W
FfeT | : '

‘Compulsory Question ( 3Fard ¥¥)

1. "The following table gives the total cost schedule of a

firm Singh & Sons :

Quantity [0 |1 [2 [3 |4 [5 |6
[ TC 20]50]65][75]95]130]185

(@) Find TFC of the firm Singh & Sons and draw a

- TFC curve.
(b) Find out the TVC at various levels of output.

(c) Find out MC at various levels of output.

(2-14/4) L-722(TR) P.T.O.
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e between TFC
4x4=16

(@)  What is the significance of differenc
and TVC ?

Frfafen afem s we & # F T A g
2

2 13 |4 |5 |6
(65 | 75 | 95130 [ 185
(&) fdg #1 TFC 7@ #ife @ TFC % i |
(F) TR F fafys =R W TVC ¥@ HiC |
(V) IR™eR = fafim =8 ® MC F@ ST |

() TFC ao TVC & |3 WoF <K &1 ¢ ?

ikl 0 |1
Easlisine 20jso

)

2. (a) Choose the correct answer : : Sx1=5
(1) Whlrh of the following pa 'S represent
~ substitute goods ?
(1) Car and Petrol
(2) Limca and Pepsi Cola
(3) Coffee and Milk
(4) None of the above
frafafae & ¥ S SR L i
Tegelil H g ® 2
(1) ®R T 9A
(2) fempr @em Y wlen -
(3) ®rdt qA M
(4) 39w H ¥ HE T

L-722(TR) 2 .
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(if) A shift in the ¢ mand curve occurs due to :
(1) Increase i own price
(2) Decrease in own price
(3) Factors other tharn price
(4) None of the above
LRI F A o TR Coxe e O
(1) oot & & 3fs
(2) AT wma § A
3) ®MA % oTEET FRE
(4) SHEw ¥ ¥ &g T
(ii1) Under socialism all economic decisions are
taken :
(1) By price mechanism
(2) By the Government
(3) Both (1) and (2)
(4) None of the above
(1) ®Ha AR & g7
(2) &R BN
(3) (1) AR (2) & §W
(4) 3w T W FE T
(iv) At break-even point :
(1) TR=TC (2) TR>TC
(3) TR <TC (4) None of these
wm-fawg fag W ¢
(1) TR=TC (2 TR>TC
(3) TR < TC (4) g:p?{ﬁiﬁgfﬂﬁ

o T.O.
(@-145) L-722(TR) 3 g
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(v) In case of Giffen Paradox, the slope of the
demand curve is :
(1) Positive
(2) Nega{tive
(3) Parallel to the ‘X’ axis
(4) None of the above
fifes feRtu & oim 9% @1 @@ BT R
(1) T
(2) FuTcHH
B) X Iy & AR
(4) ST W Q HE &

(b) Match the following : 5x1=5
(1) Lord Robbins (1) Points outside the PP
(2) Price mechanism (ii) Decrease in

| | consumer's surplus
(3) Increase in Tax . (iii) Definition of scarcity
(4) Unattainable (iv) Inelastic supply

combinations |

(5) Perishable Goods (v) Capitalism
= =1 faemm wifSw '
(1) g Ufe (i) PPC & TR fag
(2) Hd ARt (i) SYHHT HI T=d o FH
(3) X H gfs (iii) g 1 s
@) o WANE  (iv) TEEER 9RE
(5) T E 9 ARt (v) S

- L-722(TR) 4
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(c) Define the faliowing : 3Ix2=6
(1) Decrease i supply
(ii) Consumer's surplus
(1) Average cost.

O 9 | =
(i) Su9NEw F9d
(iii) G

UnitI(3&5 1)

!
3. Discuss briefly the subject matter and the nature of

economics. 16

#@ﬁﬁw—a@aﬁzmﬁrmmwﬁmi

4. What is elasticity of demand ? Discuss total expenditure
method and point elasticity method of measuring price
elasticity of demand. 16
o F @ A g 2 A W FHA A W F g o
fafy en fag @9 *1 9vi =ifST |

Unit I (3T I1)

5. Explain the law of Equi-marginal utility. Discuss the
importance and limitations of this law. | 16
w9-H IuAiTE w6 e w1 @ e
%1 HEwS qu1 HAd TaEy |

@146) L-122(TR) 5 P.T.0.
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6. -\Vh.at are indifference curves ? Explain consumer's
equilibrium with the help of indifference curve analysis. 16
S TH ¥ 2 S ww fawem #1 gerr A
U TIEH ®I sErem Ff | ‘

Unit III ( 357§ 111 )

7. Explain the Law of Diminishing Returns. Ts this law
applicable to agriculture only ? 16
BT wfawa fem = THERT | I ug frem faa e
&5 ¥ o] g 2 ?

8. Distinguish between internal and external economies. What
factors determine internal and external economies ? 16
FARF qur S orfemamne H SRR W #Wg |
IR aur S edegaTee w NN wRe i F

g2 .
Unit IV (3&T8 IV)

9. Discuss the concepts of Total Revenue (TR), Average
Revenue (AR) and Marginal Revenue (MR). Explain the

relation between AR and MR. 16

%@ o (TR), a3 (AR) qe W S (TR)

ﬁaawnmavhaﬁmlARWMR%zﬁam
Y ¥ e Fhed |

10. Explain Break-even Analysis. Give its utility and
importance. | 16
qu-fasds fag faveiour &1 U HIWT | T STRfE
den A «diR] | |

‘ ,560

L-722(TR) 6 4,
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GSE/D-18 765
POLITICAL SCIENCE
Option (1)
Indian Constitution

Time : Three Hours] [Maximum Marks : 80

Note : Attempt any Five questions. All questions carry equal

|
4
|
|

marks.
] U wo & IR Afeu | |/dt yw ®
qqH B |

t. Describe the basic features of Indian Constitution.

i o ~ o~ . e ¢
ql{ii"q LS A e S T TSI GIAT T I "?"“:'S!l.-; '

2. Explain critically the Directive Principles of State Policy

as mentioned in Indian Constitution.

gt dfauE § R g o & Afa e fagidl w
TS AT FHIT |

3. Critically examine the emergency power of the President

of India.
TR At F TEEHE iR 1 A e

FHfST |
(3-48/5) L-765 P.T.O.
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6.

Discuss the powers and position of the Governor of 4

State. ,
T & U F1 wifeal AR feyfa 1 909 a‘”';‘”\’. |

Discuss the election, powers and position of the Speaker
of Lok Sabha, |

AFAN F T F TAE, vl wr feafy #woav
FIfST |

What are the basic features of ‘New Panchayati Raj’
System as given by 73rd Constitutional Amendment. ?'
739 Hawfe guem gR @ T T vere o yome’
1 9@ fermuaed w1 guf Fifw |

Explain the composition, powers and functions of the
‘High Court’ of a State. |
TF & I=9 <Aed F @, TR @R HE #57 av

Fifea |

Critically examine the Judicial Activism.

=N fRariear s serenTs e T |

Objective Type Questions :

Tgfasweda 99T :

(1)  Source of Constitutional Power in India is :
(a) Parliament (b) Supreme Court
(c) President (d) Public
wq, ¥ Haufie vl w1 e §
(31) HEg () e e

(@) u=ufa (%) <SHar

L-765 2
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(ii) “The Directive Principles of State Policy are like a
cheque pavabie by the bank at its convenience.”
. Who said :
(a) Dr. Rajendra Parashad
(b) Mahatma Gandhi
(c}) Prof. K. T. Shah
(d) J. L. Nehru
T @ A fRwe fogi T 9 W aE @
ng%ﬁgﬁmmmfww% "
a1 FeH T ?
(31) B T WO () HewH e
(9) 9. & . B (I) O T AEE
(i) Who appoints the Governor of a State ?

@ P M (b) President
(c) 'C. M. (d) Public
TS w Fgfe e #Ra € 7
(1) HA HA () Tafa
(@) HqE wAl (R S
(iv) Maximum No. of Lok Sabha munbers can be :
(a) 552 (b) 545
) 515 d) 543
SrF gu & T & ofuw ¥ afus " E
(31) 552 () 545 |
(|) 515 | (%) 543 - |
(3-48/6) L-765 3 ~ P.T.O0.
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(v)  Which Article of the: Constitution is related to the
amendment of the Constitution of India 7

(a) Art. 368 (b) Art. 352
() Art. 370 (d) Art. 380
?Wagn—&amu@ﬁmﬁMWﬁqwﬁﬂ
e ?
() 368 (d) 352
(") 370 (%) 380

(vi) Whe preside over the Joint Session of Parliament ?
(a) President (b) Lok Sabha Speaker
(c) Prime Minister (d) Vice-President
g 7
(1) Tezufd (F) AFEIA AAL
(§) guH wAl (T) STIZUM

(vil) Which part of Indian Constitution deals with the
Fundamental Rights ?

(a) st (b) IVth
(¢) 1lrd (d) IInd
e weyE § Ao afuwr fReoam # T
™ E 7
(1) 9¥H (9) =qd
(/) T (%) T
(viii) Monthly salary of the Chief Justice of India at

present is :
@ ¥ 2.50,000 (b) ¥ 2.80.000
(c) ¥ 90,000 (d) None of these
‘aﬁﬁmﬁmég@mmwméﬁa
2 |
(31) T 2,50.000 (a) ¥ 2.80.000 .
() ¥ 90,000 (x) T ¥ B T

'L-765 | 4 13,600
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